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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of twenty (20) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, chl ¼20½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Compute the coefficient of correlation by Karl 

Pearson’s method for the following data : 

X Y 
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dkyZ fi;lZu fof/k }kjk fuEukafdr vk¡dM+ksa ds fy, lglaca/k 

xq.kkad dh x.kuk dhft, % 

X Y 
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2. Explain the concept of measurement. Describe the 

levels of measurement with examples. 

ekiu ds laizR;; dks Li”V dhft,A ekiu ds Lrjksa dk 

lksnkgj.k o.kZu dhft,A 

3. Describe two projective methods of assessment of 

personality. 

O;fäRo ekiu dh nks iz{ksih fof/k;ksa dk o.kZu dhft,A 
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4. Compute the values of Mean, Median, Mode and tenth 

percentile for the following data : 

Class Interval  Frequency 

45—49 

40—44 

35—39 

30—34 

25—29 

20—24 

15—19 

10—14 

05—09 
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6 

4 

3 

2 

 N = 40 

fuEufyf[kr iznŸkksa gsrq e/;eku] e/;kad] cgqykad rFkk nlosa 

izfr’krkad dh x.kuk dhft, % 

oxZ vUrjky ckjEckjrk 

45—49 

40—44 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between formative and summative 

evaluation. 

fuekZ.kkRed ,oa ladyukRed ewY;kadu ds e/; vUrj 

dhft,A 

2. Write a short note on Bhatia Battery Test. 

HkkfV;k cSVªh ijh{k.k ij ,d laf{kIr fVIi.kh fyf[k,A 

3. Differentiate between Teacher Made Achievement 

Test and Standardized Achievement Test. 

v/;kid fufeZr miyfC/k ijh{k.k o ekudhd`r miyfC/k 

ijh{k.k ds e/; vUrj Li”V dhft,A 

4. What do you mean by ‘Measures of Variability’ ? 

Describe its types in brief. 

^fopyu’khyrk ds ekidksa ls vki D;k le>rs gSa \ blds 

izdkjksa dks la{ksi esa Li”V dhft,A 
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5. What do you mean by Positive, Negative and Zero 

Correlation ? Explain with examples. 

/kukRed] _.kkRed rFkk ‘kwU; lglaca/k ls vki D;k le>rs 

gSa \ lksnkgj.k Li”V dhft,A 

6. Write the criteria of a good test. 

,d vPNs ijh{k.k dh dlkSfV;ksa dks fyf[k,A 

7. What is reliability ? Describe the split-half method of 

computing reliability coefficient. 

fo’oluh;rk D;k gS \ fo’oluh;rk xq.kkad Kkr djus dh 

v)Z&foPNsn fof/k dk o.kZu dhft,A 

8. What is empirical validity ? Explain. 

vkuqHkfod oS/krk D;k gS \ Li”V dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which one of the following is not a method of 

computing coefficient of correlation ? 

(a) Rank Order Method 

(b) Product Moment Method 

(c) Phi-Coefficient Method 

(d) Moderate Product Method 
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fuEufyf[kr esa ls dkSu ,d lglaca/k xq.kkad dks ifjdfYkr 

djus dh fof/k ugha gS \ 

¼v½ Øe varjky fof/k 

¼c½ izksMDV eksesaV fof/k 

¼l½ QkbZ xq.kkad fof/k 

¼n½ ekWMjsV izksMDV fof/k 

2. The value of Index of Reliability for the value of the 

Reliability coefficient = 0.81 is : 

(a) 0.90 

(b) 0.88 

(c) 0.18 

(d) 0.11 

fo’oluh;rk xq.kkad  0-81 ds fy, fo’oluh;rk baMsDl 

dk eku gS % 

¼v½ 0-90 

¼c½ 0-88 

¼l½ 0-18 

¼n½ 0-11 

Fill in the blanks : 

fjä LFkkuksa dh iwfrZ dhft, % 

3. The correlation between Total Scores (X) and True 

Scores (T) is called ........ 

dqy izkIrkad X  rFkk lR; izkIrkad T  ds e/; lglaca/k 

---------------
 dgykrk gSA 
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4. ‘Quartile’ is the measure of ......... 

^prqFkk±d* 
----------------

 dk ,d ekid gSA 

5. The value of quartile deviation for 25P 24  and 75P  = 

74 is : 

(a) 42  

(b) 47 

(c) 25 

(d) None of the above 

25P 24  rFkk 75P 74  ds fy, prqFkk±’k fopyu dk eku 

gS % 

¼v½ 42 

¼c½ 47 

¼l½ 25 

¼n½ mi;qZDr esa ls dksbZ ugha 

6. The value of standard error of standard deviation for 

the value of standard deviation equal to 4.00 and 

N = 16 is : 

(a) 0.17 

(b) 0.71 

(c) 0.64 

(d) None of the above 

ekud fopyu dk eku 4-00 gksus rFkk N 16  ds fy;s 

ekud fopyu dh ekud =qfV dk eku gS % 

¼v½ 0-17 
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¼c½ 0-71 

¼l½ 0-64 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. If a curve can be divided into two equal parts that are 

mirror image, it is .............. curve. 

;fn fdlh oØ dks mlds nks cjkcj Hkkxksa esa niZ.k izfrfcEc 

ds :i esa foHkä fd;k tk, rks og 
--------------

 oØ gSA 

Write True/False against the following : 

fuEufyf[kr dFkuksa ds lkeus lR;@vlR; fyf[k, % 

8. Reliability is related to ‘Variable Errors’. (True/False) 

fo’oluh;rk dk laca/k pj =qfV;ksa ls gSA ¼lR;@vlR;½ 

9. The formula of computing Z Score is (X–M)/ .  

     (True/False) 

Z eku dh x.kuk djus ds fy, lw= X–M /  gSA  

    ¼lR;@vlR;½ 

10. The Normal Probability Distribution is not a 

continuous distribution. (True/False) 

lkekU; izkf;dRkk forj.k ,d lrr forj.k ugha gksrk gSA  

    ¼lR;@vlR;½ 
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